O ol (il )5 (990 3T (wnadti Colw g Sy

457F

J S o8

N L A A P A A P A B ERA ERA ER

&

51457

PAY €3 o Mool e 39 oo olELils 5
M (83) Lo plol

Ol bl (5 yatn
Spalid g bt cagle vaylya

S gl it lojle

8BS Vi 1 o of Fwl D YA Sl olowd
e —
Y Ve 3o 3 Slka o ilomial Slge ylgas
Silais U | 3 keus 31 | o Slami el lge s,
Y- ) . (pnSSl) panasi g eges by | Y
a0 ™ TS Sapd | Y
A+ o Ta b,y [ Y
Ve A Ta Shis | F
W 145 Th ainds | b
VB ¥ T4 i | P
VA Vo Ta ! i g S s lds | Y

251 i &y g0l !

) e olane il 51 0Lkl

iy B35 B 3 Cpulicio U g Ml -0 o gl hos (8 59m0li g B g A | ol raled ol 0pge 3T (SN 2 31 L e i I g g 5 WG LN g 45 il

&

X

X

A

&

AR VYA | BB R R

&

] B




O ol (il )5 (990 3T (wnadti Colw g Sy

¥ axio 457F (1T1A u5) ple ainds g & )b dcgome

]| ;_jj-“)T &M.J.a- 3 Loods 148 sl aJJ.ﬁndJ .J.ld Js..l_‘.r i_ll.‘:-)m 39 Lal 3 lase i T pas s'.;h])-f u_a.lbslé -]

1y 895 Juduo 8 kouds ydge sl bolS BT L e PURL T 2 S PR — sl
T JpsS A5 g foi (oW lgew Az 80 g dolizeuwl oYl dude & 3559 & yl5 YL o gyaie dbgls 5yl L
el s U 1) pleligouly (ply 3 W15 i 580 (59, p 0t

gt Sl) ki’ g cogos b

PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- Tt had not raincd on the prairic for several months. Because of the drought, the climate
had beeome very ————--—--- ‘
1) unstcady 2) rigid 3) intcnse 4y arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residenee—weed grew -------—-- in the front yard.
1) unchecked 2) unjustilicd 3) complicated 4) scanty

3-  Can vou please ———--—--— this last part of the lesson for me; I’m not sure [ understood.
1) recapitulate 2) identify 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—---—--- in his expression, although he never
criticized us directly.
') vulnerable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas ------—---- are finite; one day they will run out, so think now
about what you can do to consume less.
I') appliances 2) deposits 3) relics 4) amenities

6- You are recommended to use mnemonics to help vou -----—--—-- important items of
information.
1) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is -----—---- , lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superficial 4) swift

8-  His words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  Tlundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --——--—-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical ---------—- which have puzeled
man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The philosophical discussion ol reduction-relations in the seicnces was inspired by
cascs such as the alleged reduction of Newtonian mechanics o relativity theory, of
chemistry to atomic physics, and ol gas laws (o statistical mechanies. Tlowever, in
what respects these actual episodes of theory change count as reductions is a complex
matter. Many factors might be relevant, not merely logical and metaphysical relations
but also epistemic, psychological. and pragmatic ones. QQuestions also arose about the
generalizability of these cases and their role in scientific progress or change. which led
to the idea that appropriate models of reduction should mainly focus on cases of actual
theory succession. The main target in the reduction debate within the philosophy of
science, however, was not a reconstruction of the process of scientific change. but
rather an explication of the relation between successive theories that justified the
relevant change, i.e., relations alleged to hold between pairs of theories such as
Newtonian mechanics and relativity theory, or thermodvnamics and statistical
mcchanics. In this context, the relata of reductions were conceived ol as theories or
modcls, rather than propertics, cvents, or kinds. Thus, they are olien relerred o as
“theory reductions™.
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16-

17-

18-

19-

20-

What is the passage mainly concerned with?

1) Cascs of actual theory succesgion

2) Lpisodes ol theory change

3) Generalizability of scientific models

4) Scientific reductions and the philosophy of science

According to the passage, the philosophical discussion of reduction-relations in the
sciences was inspired by all of the following cases EXCEPT --------——--,

1} chemistry to atomic physics

2) gas laws to statistical mechanics

3) Newtonian mechanics to relativity theory

4y materialism and mind-body dualism

The actual episodes of theory change counting as reductions are influenced by relevant
factors such as -—--—--—-- relations.

1) epistemic. psychological. and pragmatic

2) logical, social, and metaphysical

3) cpistemic. ceological, and pragmatic

43 social, psychological, and melaphysical

The word “their” in line 7 refers to —------——-—,

1) questions 2) these cascs

3) many tactors 4) appropriate models

Which of the following was the main target in the reduction debate within the philosophy

of science?

1) Reconstruction of the process of scientific change

2) Promotion of theory reductions within the context of properties, events. or kinds

3) Discovery of the relation between thermodynamics and statistical mechanics

4) Explanation of the relation between successive theories that justified the relevant
change

PASSAGE 2:

A serics of developments in carly 20th-century philosophy made the genceral
philosophy ol science central to philesophy in the English-speaking world. Inspired by
the articulation of mathematical logic, or formal logic, in the work of the philosophers
Gottlob I'rege (1848 1925) and Bertrand Russell {1872 1970} and the mathematician
David Ililbert {1862 1943). a group of European philasophers known as the Vienna
Circle attempted to diagnose the difference between the inconclusive debates that
mark the histery of philosophy and the firm accomplishments of the sciences they
admired. Lhey offered criteria of meaningfulness, or “cognitive significance.” aiming
to demonstrate that traditional philosophical questions (and their proposed answers)
are meaningless. The correct task of philosophy, they suggested, is to formulate a logic
of the sciences that would be analogous to the logic of pure mathematics formulated
by Frege. Russell. and Hilbert. In the light of logic. they thought, genuinely fruitful
inquirics could be [reed [rom the encumbrances ol traditional philosophy.
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21-

22-

24-

25-

What happencd as a result of a series of developments in early 20th-century philosophy?

1) The general philosophy ol science was made central to philosophy in the
Iinglish-speaking world.

2) Philosophy was made central to the general philosophy of science in the
HEnglish-speaking world.

3) The criteria of meaningfulness was given priority over cognitive significance.

4) Cognitive significance was given priority over the criteria of meaningfulness.

The passage refers to all of the following scholars EXCEPT ------—------,
1) Gottlob Frege 2) Bertrand Russell
3) Ludwig Wittgenstein 43 David Hilbert

The true task of philosophy, according to the new group of European philosophers, is to

1) diagnose the inconclusive debates that mark the history of science

2) proposc a logic ol purc mathematics that would be comparable to the logic of the
sciences

3) formulaic a logic of the scienees that would be comparable to the logic of pure
mathematics

4y expand the firm accomplishments of admirable sciences such as mathematics

The word “They” in line 8 refers to -—--—-—--—-,

'y accomplishments 2) philosophers of the Vienna Circle
3) debates 4) sciences

The word “encumbrances™ in the last sentence is similar in meaning to ----—-----—-- :
1) ambiguities 2) drawhacks

3) hindrances 4) complexities

PASSAGE 3:

In his first book, The Copernican Revolution (1957), Thomas Kuhn studied the
development of the heliocentric theory of the solar system during the Renaissance. In his
lundmark sccond book, The Structure of Scientific Revolutions, he argucd that scicentilic
rescarch and thought are defined by “paradigms,” or conceptual world-views, thatl consist ol
formal theories, classic cxperiments, and (rusted methods. Scicntists tvpically accepl a
prevailing paradigm and try 1o exiend its scope by relining theorics, explaining puzzling
data. and cstablishing more precise measurcs of standards and phenomena. Fventually,
however, their efforts may generate insoluble theoretical problems or experimental
anomalies that expose a paradigm’s inadequacies or contradict it altogether. This
accumulation of difficulties triggers a crisis that can only be resolved by an intellectual
revolution that replaces an old paradigm with a new one. 'The overthrow of Ptolemaic
cosmology by Copernican heliocentrism. and the displacement of Newtonian mechanics by
quantum physics and general relativity, are both examples of major paradigm shifts.

Kuhn’s The Structure of Scientific Revolutions revolutionized the history and philosophy
of science, and his concept of paradigm shifts was extended to such disciplines as political
sclence, economics. sociology, and even to business management. Kuhn's later works were
a collccuon ol cssays, The Lssential Tension (1977), and the technical study Black-Body
Theory and the Quantimm Discontinuiny (1978).
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26- What docs the passage mainly discuss?

1) Kuhn’s concept of paradigm shifl 2) Kuhn’s major works in scicnee
3) Major scientific revolutions 4) Prevailing paradigms in science
27- A paradigm, according to Kuhn, consists of --——------——- :

1) puzzling data, classic experiments, and trusted methods
2) formal theories, classic experiments, and trusted methods
3) measures of standards. formal theories, and classic experiments,
4) puzzling data, measures of phenomena, and formal theories
28- The word *anomalies” in paragraph 1 is similar in meaning to -----—-----—-,
1) inconsistencies 2) frameworks
3) approaches 4) specifications
29-  Which example of paradigm shift has been mentioned in the passage?
1) Aristotelian worldview giving way to the Newtonian worldview
2) Replacement of quantum physics by general relativity
3) Transactional Costs Analysis giving way 1o Agency Theory
4) Replacement of Prolemaic cosmology by Copernican heliocentrism

3{(- The passage mentions that the coneept of paradigm shift has been extended to all of the

following disciplines EXCEPT --—--—c——,
1) sociology 2) business management
3) mathematics 4) political science
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